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Note: i) Attemptany five questions.
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ii) All questions carry c@ marks.
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iii} In case of ad ubt or dispute the English versign ‘
guestion 5 be treated as final.
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1. Find the Eigen values and Ei gcn vectors of the matrix
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a) - Examine the consistency of the system an et

solve the equations:
4x-2y+6z = 8, x—yp-3z=-1, 15x-—3y+92 =21.
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b) Prove that ' | .
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b) If x=rcosé, y—-rsmé' shﬂwthat[ r] (_r] =1.
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~ 4. a) "A sample of 64 students have a mean weight of 70 kgs.

Can this be regarded as a sample from a population with
mean weight 56 kgs and standard deviation 25 kgs. 7
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b) Theaverage breaking strength of the steel rods is specified -
to be 18.5 thousand pounds. To test this sample of 14

- rods were tested. The mean and standard deviations -
obtained were 17.85 and 1.955 respectively. Is the result
of experiment significant? _ 7
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b) Three students A8, C are in runming race: A and B have
the same of winning and each is twice as likely
to win as C. Find the probability that B and C. 7
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6. In a nonmal distribution, 7% of the items are under 35 and
89% are under 63. Determine the mean and variance of the
distribution. : 14
S HIHR &R0 B, 7% ScH 359 9 & 3R 89% 63/ T
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7. a) Show that ~(pv(~paq)) and (~pa~q) are logically

eguivalcllt. B ' 7
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What do you mean by well formed fO_rmula? Explain about

Tautology with example. - _ -7
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8. a) Discuss about the graph céloﬁng. 7_
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'b) Ifthe variance of a Poisson variate is 3, then find the
: probability that 0 <x <3 and 1 £x <4, ' 7
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